
Al=WlSEl

2. Fil&

3. d&l

ii&n&a

4. dli;\,

5. dli,

OR 213 1 3



Al=WlSEl Al=WlSBl H~1IO\I661JR~  1

A2=W2SE2 A2=W2SE2 Mtiua\nnla4  2

WRITE(6,20)Al

:1- '

P 4% d
WRITE t+6&mmllJau6ll~~ 1

20 FORMAT(3X,'AREA  LOT1 IS',F6.1) 'AREA LOT1 IS',

WRITE(G,ll)A2

11 FORMAT(3X,'AREA  MT2 IS',F6.1)  'AREA LOT2 IS',

. A 2
i

ATOTAL=Al+AL ATOTAL=Al+AZ H&'InJ'UO\I  2

L
WRITE(6.12)ATOTAL WRITE i?uvkApl

12 FORMAT(3X,'TOTAL  AREA IS',FB.l)  'TOTAL AREA

STOP

E N D

6Llh



W1=75.6

W2=96.5

E1=121.5

E2=110.6

Al=WlSEl

A2=W2fE2

WRITE(6,2O)Al

20 FORMAT(BX,'AREA  LOT1 IS',F8.1)

WRITE(G,ll)A2

11 FORMAT(3X,'AREA  MT2 IS',F8.1)

ATOTAL=Al+AE

WRITE(6,12)ATOTAL

12 FORMAT(3X,"TOTAL  AREA  IS',F8.1)

STOP

(American National Standard 1nstitute:ANSI)  ‘Ikkmml~  ~&&01&n

1. k-JIR'U  o-9 klm~  (digit)

2. i-&n+7  A-Z i;70"fllj7~?ihm'?ti  (Uppercase letters)

O R  2 1 3 1 5



&I&I  (blank H% space)

~IORR~;  (dollar sign)

oz%WTv~~  (apostrophe)

w~%.II&  (right parenthesis)

XII&&I  (left parenthesis)

no&u (asterisk)

um  (plus sign)

iW (minus sign)

%&I (slash)

?tullR  (comma)

GnnW  (period)

uiinnl~d,  (colon) -

300 -2 63247' 0 +4 L&IR&lu3UL&

6.32 -3.21 .0005 63.04 -2.0 o.r;ju,ati7u?lmS\,
1 6 OR 2 1 3



PAY, RRS N’3:: RATE i%kW-~

&K&IQ ~LI&&~  (Valid)

X Ql

ABC SUM

COUNT

Xl2345

O R  213 1 7



A-B

4PAY

ABC A BC A B C

1 8 O R  2 1 3



hUJ7lfih  integer GWhl&l  real

KOUNT.

N103-

a
ww?;  (expression) I 41 (value)

3/4

ai3

3./4.

8./3.

(l/2)  + (I/2)

(l-/2.)  + (l-/2.)

2

.75 (3. UR:: 4. l~lRU'J'lu?U?~\I)

2.666667

0

1.



+ I rrrn~?n  (addition)

- f117Au  (subtraction)

* t-m?n  (multiplication) \

/ ~TVJWIT  (division)

** nwunn’i~~  (exponentiation)

I (ASB)W2

(-C+B)*D

ASSB

-3.7

AW.5

((A-B)**3)**.25

FMTS(l+IC)WN/IC-1

-2*V*(X*X+Y*Y)/(U*U+V*V)**2

2 0

a

1 4

Y
ab-30

-C

(abP

(-c+b)d

ab

FMT(l+ic)n
7 -1

-Ev(xyS)
tuft  V1)'

&-&R+l)

P P' I

O R  21  3



A-(B+C$(K)

xs-3 ,

rrri;on-h  (rule of precedence) &k11~

niwii  tiiufm  (operation)

1. A-B+C
I

(A-B)+C

O R  2 1 3 2 1



ihd

2.

3.

4.

6.

6.

7 .
.(<

A+B4C

3.+2.43.

A/B4C

0./4.42.

h/B/C

k/4./2.

(h+B)/CSD

(3.+6.)/3.46;

A+B4C442

3.+3.42.442

hSSB44C

3.442.443.

h+(BW)

3.+(2.43.)=3.+6.=0.

(A/B)$C

(0./4.)42.=2.2542.=4.50

(h/B)/C

(8./4.)/2.=2./2.=1.

((h+B)/C)SD  =  F 4D Iri’lli  , h h

((3.+6.)/4.)46.=~46.=3.46.=18.

A+(B*(C442))

3.+(3.42.2)=3.+(3.44.)=3.+12.

=16.

A*S(BSSC)  (Is  (A**B)*~C)

3.44(2.443.)=3.448.=6661.

(Ihi  (3.442.)443.=0.443.=720.)

1.2.6 6lh4fll7~lMlUldl  (Replacement &l hseigtment  statement)

y&l piiz-iq

2 2 “3R  7 1 3



&KilJ fi&fiWURFil,AIW&  (Arithmetic assignment statement) ii46

x=3.123 tilM,J~  X %%il  3.123 (I&  3.123 'Iuii  1 ii0 X)

(d1L?i1210\1  x ?amlW)

Cl=(A+B)/C dIUIN  (A+B)/C  ,,&-&.,Ua&~'lu  Cl

z=3.**2 z i%rM'liiufil~~~il~~a~  3

sK=(z+4.)**.5 SK i&l = Jz+4

3/2.

3./2

;.+3,2

1.5

1.5

5 .

4.*3/2 6. I 3/2=1,  1 ~",&I,&  1.

t-knumisu 4.

4.*3.=12.,12./2.=6.

O R  233 2 3



4.$(3/2)

4+3/2.

1+7.2

Firuo\liirco;

4 . I
hlbtl

3/2-l, 1 $"&JW&  1.

fioupeftiiu 4."

3./2.=1.6,  4.+1.6=6.6

ii1 X=-l

1X=3.2

X=3+2

J=3./2

KX=4/3+6.8

2 4 OR 213



OR  213 25



n



50 P AY = 5.2 5 z+XNJR-  100

f&& 1234567690123456769012346676901234567...

O R  2 1 3 2 7



OR 213







I-format code

yhLl
L_1!

IW

7+1 I anm'lu7lJ 1 itwaZ?nikm

O R  2 1 3 3 1



K=35

J=B

wFmK(t3,12)K

12 E'OFlMAT(2X,I3)

L=KW

WRITK(B,ll)L,J

11 F'ORMAT(6X,I3,1X,12)

iil#xil\1 K=1234
J=-14

wRITK(6,15)K,  J, J
k c J

15 E'ORMAT(2X,I3,2X,I,2,2X,;4)\

OR 213



B= -4.2

wRITE(6,15)  A, A,
$1 K'I

15 ~~T(lX,F6.3,F9.5,1X,F6.1,F6.1,F4.0)

UBfllG $426$.4260~~63.+4>-4.,

ii7fNhu  A = 12.6534

B= 13.7

WRITE(6,16)  A, A, A, B
C1LlJ'

16 FORMAT(2X,FQ.3,F6.1,F5.0,F7.3)

UfWl-rihm’

ihilU A = -132.456

B = 2509.01

c = 12.

WRITE(6,12)A ,
\1

12 MIRt4AT(1X,F7.3,1X,F5.1,1X,F6.2,1X,F5.4)

waniliin;

O R  2 1 3 33



WRITK(G,ll)A,B,C

1 1 ~~T(I2sI413)  Al&  FORMAT(F3.O,F5.O,F4.0)

WRITK(6,12)I,J,R

1 2 FOWAT(F2.0,F2.0,F3.0)  A?&  FOlWT(I2,12,13)

T-format code

h.i1\1 K = 35

J=2

kahl mITB(G,lO)KV

10 FOFMAT(T5,'AVKRAGE  ;S',I3)

ufini7kni (;I KV ikil  25)

3 4 O R  2 1 3



,

G-J&\1 IRRROR-f&89

WRITE(6,6)IERROR

6 lQRMAT(T2,'SSS  Sf$h',I3)

umni-ri;a’ *p,,  ***&gg(

J=3
4

WRITR(6,11)J,K

11 lW'fAT(T2,'NO-BOYS=',I2,2X,'NO-GIRLS=',I3)

ID = 26

IY = 61

5 FORMAT(T60,'XYZ  CCMPANY PAYROLL RRPORT DATR',

llX,I2,'/',12,'/',12)

4
i+w&ni~

6
1 . . . . . . . 0. . . . . . . . . . . . .0

uani-r;hm’
b

YZ . . . 26/61

r
i7Otkl WRITE(6,Il)

11 E'ORMAT(3:Y,'XYZ,CORPORATION')

ww&uvi hhhX'fZ,,CORPORATION

O R  2 1 3 3 5
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rHqwA

1.1) F 1.2) 1123 1.3) FORTRAN

1.5) -1234 1.6) 3ABC 1.7) XRAY

1.9) +72 1.10) 4(Y) 1.11) AlB2C

1.13) lA2B3C  . 1.14) IRAY 1.16) COUNT

1.17) 3+4 1.18) 12+1 1.19) $300.50

2. ~u~~~m;pi6w;y~~~un7u7yIo~,,~~

2.1)  x(Y+z)

2.4) axz+bx+c

2.2) a c
6

2.7) ‘lit-2 2.8)  a - -+m5
*+Y

2.10) -x2 2.11) ax+Y+3.5

2.13) y-ye. X-X&
q-90  x,-x,

2.14) z-l+ 2+'3
I-x

1.4) x1.3

1.8) .000000006

1.12) 234-567-999

1.16) KOUNT

1.20) 3<4

2.3) a
a

2.6) yb

2.9) 2(xy-')

2.12) y+ax

2.15) -b+d=
aa

2.16) ~2"

3. S\li3917WdliU  WRITE Iuwilij\l  FORMAT ‘~o&~~ci~ijulf~in  ~tHIyw&u

(ii1 6=w1vLmu~?d1~~~oon)

3.1) WRITR(B,lO),A,B,C 3.2).WRITR(6,5)I,J

10 FORMAT(1X,F1.O,F2.0,F3.0) 5 FQRMAT(lX,I4)

3.3) WRITE(6,11)4,5.23 3.4) WRITE(6,16)A,I,J

11 FOFU'fAT(T5.12,F4.2) 16 FORMAT(T3,F4.5,12,11)

38 O R  2 1 3



3.5) WRITE(6,7)A,K,C S.6) WRITE(6,12.)X,Y

7 FORMAT(F5.2,13,F4.) 12 FOIUUT(2X,F3.1,F3.1)

3.7) WRITl3(6,15)I,X,K 3.8) wRITE(6,11)X-Y

15 FoEMAT(lX,I2,13,11) 11 FOliMAT(F3.2,F4.0)

4. 61 A=3., B=-2., I=6 UR::  J= 0 WlW+&&a&

4.1) AW2+B 4.2) 1+2/3 4.3) AHB

4.4) AS3.+BS4 4.5) A/B 4.6) A/B*3+A

4.7) A/B/2 4.8) A/B+2. 4.9) J/I

4.10) I/J 4.11) AWI 4.12) (A+I)/B

4.13) AS*2**3 4.14) BSSB 4.15) JSSB

5. ?\Nilf~d&::L&~U~lLLti'I  X U% IX ~J-I~IC~-I~\I~~~$  -&I A=3.2, B=-2.,  I=6

ItR::  J=O

5.1) x=1, 5.2) IX=A 5.3) X=(1+3)/2

5.4) IX=-A+B 5.5) X=IStB 5.6) X=JSI/.I

5.7) X=J 5.8) X=B$$J 5.9) IX=JSA

I=4

A=1

B=2

S=(3/1)*3

J=(3./9)*3

JK=(A+2./B)/2

e ,I
7. \WIW~~WUJVWII  A &&MWI  format code 7;:

7.1) A=743.25 F10.3 7.2) A=328.74 F5.2

7.3) A=-643.281 F7.2 7.4) A=.37 F5.2

O R  2 1 3 3 9



7.6) A=-4788.8 F8.0

8. u~r"rm77;hn;o7nag~~~,~*~~g'hl;l

8.1) x=3.2

Y=X*.18

WWMi(8,1O)X,Y

10 FORMAT(3X,F4.O,TlO,F9.2,'ALL')

8.2)

1 1

8.3)

1 2

8.4)
I.

1 3

8.5)

I=+1832

J=-4

K=I/J

WRITE(8,11)I,J,K

lU?MAT(T8,14,3X,Il,'+',I5)

Xx=4.3257

YY=-.0008

zz=xx+YY

wRITE(8,12)xx,YY,zz

FOFfMAT(T4,F7.3,F7.3,F7.3)

ABc=19.2

IJ3=4

WRITE(8,13) IJ3,ABc

FOFiMAT(2X.I4.3X.F8.0~

I=.8

J=.8

Z=I+J

WFWl'K(8,ll)Z

11 FORMAT(1X,F2.0,'12,F4.1')

4 0 O R  2 1 3



8 . 8 )  I=11
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